EOC REVIEW HOMEWORK – QUADRATICS AND POLYNOMIALS
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Add: (3x? + 4x - 1) + (-2x? - x + 3)

A x?+3x-4
B x?+3x+2
C 5x*+4x+2
D

5x% +5x + 4
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What is the sum of k3 + 2k? + 1and
3k2 —4?

F K45k -5

G K +5k -3

H  4k® + 2k -5

J oAk 1w -3
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20. The height of a flare fired from a gun can be described by: /1 = —16¢> + 60¢ where tis the time in
seconds and h is the height in feet. How long will it take for the flare to reach 36 feet?

a. .75 seconds b. 1 second ¢. 1.5 seconds d. 3seconds
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Which quadrant contains the vertex of the following:  f(x) = —2x" —8x+11

a. 1st b. 2nd ¢ 3rd d. 4th
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How many solutions are there to the equation: —33? +27=0

a. 0 b. 1 c2 d. Infinite
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What is the range for the function f(x)=x" +4x? hint: find the vertex.

a. {y<-4} b. {y>—4} c {y=4} d. {all real numbers}
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What is the range for the function f'(x) =—2x" +35 for the domain D = {x > 5}

a. R={y>-55} b. R={y>-45} c. R={y<55} d. R={y<-45}
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(5m? 4 2m? —m) + (m? + 4m —2) =
5m* + 3m? —5m + 2
5m? +3m? +3m—2
5m? + 2m? —5m — 2
5m* +2m? +3m +2

—=—xxom
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Factor: x? + 15x —54
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(x=k)(y —k) =
F xy—&
G xy+k?
H xy—xk—ky+ k2
b xytxk+ky— k2
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—X =6 for all values of x
+x—6

for which the expression is defined.

simplify 2

F x?+2x
G 3x*—12
H x—3
2x—3
3 x—3

2x + 3
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Which values of x make the equation
true?

x4 x—12=0

—6 and 2

4 and 3
—3and 4
—2and 6

=xTxom




image6.png
A

B
c
D

implify: 2x(3x* — x2 + 5x)

6x7 — x? 4 5x
6x'2 — x? +5x
6x7 — 2x° +10x°
6x'2 —2x® +10x*




